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Numbers (Multiplication and Division) 

Solve the following: 

a) 9x6 b) 6x 8 

Q2: Find the missing numbers. 

 

a) 9 x               = 54    b) 50 ÷10 =                 c)       8 x                = 56 

 

Q3: If a box contains 10 books, how many books will 8 boxes will have ? 

Q4: How many chocolates will each child get if 28 chocolates are shared equally between 

seven children.  

Q5 :  Solve the following : 

a) 63 ÷ 7   

b) 45 ÷ 9 

c) 80 ÷ 10  

Q6: Share 20 flowers among 4 children. How many flowers will each child get? 

Q7: If one class have 10 children. How many children will be in 9 classes? 
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